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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13

BriE) | EBIATK (FD) | EHE (EH/HK) | XK R

07:10 283 130.0 B5| THA@07:10 KRENFERF (RAA1ERER)
08:05 283 130.0 B5| FiHAe08:05 REIEF (KREERE)
09:05 283 130.0 Ag| 7MHA@09:05 KENFEF (KRAEEES)
10:10 283 130.0 B5| THA@10:10 KRENFERF (RA1EREE)
11:00 283 130.0 R5| ThiHAe11:00 KRHEF CRAEZFES
11:50 283 130.0 Rg| THRe11:50 KENEF (RAEES)
12:40 283 130.0 B5| THAe12:40 KRENFEF (RA1ERER)
13:30 283 130.0 R5| TiHAe13:30 KRFIEF (RAEHS)
14:20 283 130.0 Rg| THRe14:20 KENEF (KAEES)
15:15 283 130.0 B5| FnHAe@15:15 KREEF (GREAFEESE)
21t 2830.0 (10)%) 1300.0 333 KEC: 2080.0, PH: 5.6
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FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=27 (2025-04-27)
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P3-13

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:15 190 100. 0 RS 1Ri&@07:15 Fzi (REAEESE)
07:55 190 100.0 RS {Ri&e07:55 Fzh (REEHSE)
08:35 190 100.0 (Z=| 1Ri%@08:35 Fzh (KABERE)
09:15 190 100.0 FE| 1BRi%@09:15 F3h (FkBERSE)
09:55 190 100.0 FA| 1Ri&@09:55 F 3 (FKAHEREE
10:35 190 100.0 FA| {Ri&@10:35 Fz (kAEEE)
11:10 190 100.0 el Rige11:10 Fzy (REEHE)
11:45 190 100.0 e Rige11:45 Fzy (REAERSE)
12:25 190 100.0 | Rige12:25 Fr (REEESE)
13:00 190 100.0 RS {Ri&e13:00 Fzf (REERSE)
13:35 190 100.0 BS| 1Ri%e13:35 Fzh (GREEESE)
14:15 190 100.0 S| 1Rige14:15 Fzh (REEZESR)
14:50 190 100.0 B 1Rige14:50 Fzh (REEZEE)
15:40 190 100.0 BS| 1Ri%e15:40 Fz CGREEESE)
=21t 2660.0 (14)%) 1400. 0 32 UHIKEC: 2080.0, PH: 5.6
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ET (ml/hr/plant)

P3-13_0, Day=26 (2025-04-26)
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P3-13

FfiE) | GEBIATI (7)) | EBE (EAH/HK) | XS AR

07:20 240 90. 0 RS {Ri%@07:20 Fzi (KREEER)
08:00 240 90.0 RS 1Ri&e08:00 Fzh (FEEEEE)
08:40 240 90.0 RS 1Ri%@08:40 Fzi (KREEEE)
09:20 240 90.0 RS Ri%@09:20 Fzi (REEEE)
10:00 240 90.0 | {BRig010:00 Fz (GRPERSE)
10:45 240 90.0 RS Ri&@10:45 Fz (REAEHE)
11:40 240 90.0 S| Ri%e11:40 Fz1 (REEESR)
12:25 240 90.0 RS 1Rige12:25 Fzh (REEEE)
13:20 240 90.0 B 1Rige13:20 Fzh (REEZESE)
13:55 240 90.0 BS| 1Ri%e13:55 Fzh (GREEESE)
14:40 240 90.0 Rg| 1Ri%e14:40 Fz CGREERSE)
15:25 240 90.0 B 1Rige15:25 Fzh (REEESER)
249t 2880.0 (12%) 1080. 0 3ESHKEC: 2080.0, PH: 5.6

MEBEHERE STAAEARS (156.0 : 106.0), FIEEHTF—@E XAH4
LEOREBRRTC (240) 5714 (205. 0) AFF, FIEEHT X BREERS EXIER
ZRIASERRIERE106.0 ml.

large discrepency for begining water status (172:282.0), set to 194.0 ml.
RE R it o] /RECEIE Bh k.
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P3-13_0, Day=25 (2025-04-25)
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m=515, FV0=0 m=605, FV0=0 m=665, FVO0=0
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FfiE) | GEBIATI (7)) | EBE (EAH/K) | XS ERE

08:30 180 50. 0 RS {Ri%@08:30 Fzf (FRAEEE)
09:05 180 50.0 S| 1Ri&e09:05 Fzh (FEEESE)
09:40 180 50.0 RS {Ri%009:40 Fz (REAEHE)
10:15 180 50. 0 S| Ri%@10:15 Fzi (REAERESR)
10:50 180 50.0 | {BRig010:50 Fz (GRPERSE)
11:25 180 50. 0 B 1Rige11:25 Fzh (REERESE)
12:00 180 50. 0 A5| 1Ri%@12:00 Fz (REERKS)
12:40 180 50.0 | Ri%e12:40 Fz1 (REERESE)
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